SEAT No =
[a /A -2] SARDAR PATEL UNIVERSITY
B Com SEM V Examination
tion V UBOSACOM71

English & Business Communica
Date: 15/10/2024, Tuesday
Time: 10:00 am to 01:00 pm

Que. 1 Attempt any two of the following: :
1) Write a detailed note on the Trial Scene of the play Justice.
2) Discuss William Falder as the tragic hero of the play Justice.

3) Draw the character sketch of James How with reference to play ‘Justice’.

4) Examine in detail the role of Cokeson in the play and his meeting with the
cC governor of the prison.

Marks: 70
(18)

Que. 2 a). Attempt any one of the following: (05)

1) The Opening of the play Justice.
2) Ruth Honeywill.

Que. 2 b). Attempt any two of the following: (12)
1) E mail :
2) Internet
3) Kinesics
4) Paralanguage ; A .
Que. 3 Draft a Press Report on any one of the following: - (18)
1) Heavy Rain in Gujarat
2) A massive road accident on Ahmedabad-Va
. ~3) A massive train accident o
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Seat No.: No. of Printed Pages: 2:
C'Z‘!/f 2] SARDAR PATEL UNIVERSITY
N T sl of Coliisires (Semester 5) Examination (October — 2024)
UB0SDCOM?72 - Advanced Accounting - X
Date: 21.10.2024 (Monday)
Time: 10.00 A.M. To 1.00 P.M. Total: 70 Marks
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Seat No.:

No. of Printed Pages: 3 _
25 /A-2 SARDAR PATEL UNIVERISTY
E Eh/ j Bachelor of Commerce (Semester 5) Examination - 2024
Ootn 6.3 UBOSCCOM71: Business Taxation |
* 167 October 2024, Wednesday

Time: 10:00 AM to 01:00 PM Total: 70 Marks

Note : Figure to the right indicate full marks of the question .

Q-1 Explain the following terms as per Income Tax Act: [18]
i) Casual income
i) Person

. ili.)  Assessee
OR

Q-1 Write notes on : (18)

a.) Dividend

b.) Agricultural Income

A. Find out the residential status of Mr. Anuj for A.Y. 2024-25 from the [09)
formation given below ( assuming that prior to the financial year 2019-20

Q2

he was India )

Financial Year Days of Stay in India

2023-24 2 J

2022-23 365 :

2021-22 .- ‘ - TR

2020-721 70 o ek b R e i E

2019-20 . b iy ol d el imsesin 3
B. Wtbmu:hﬁm&f:rg:-h:_ ; e DA carisemn T vios nin

133 s liTs - . 1 .
TS y8s 2 8.1 babicy Q254 s 17 (3
QIO T enames ARA ey 43

l---“i £ 8

scanner


http://scannergo.net/?utm_source=pdf&utm_medium=watermark&utm_campaign=scannergo

Q-3

(viii)Compensation paid for injury suffered while performing office duty Rs.
<. 04 i ity 1.8 litres ) for

(ix) Employer has provided a chauffeur - driven car ( capacity 1.8 11 by ¥
official and personal purpose . All expense; s;rc _r;:ntel by employer . Rs . 1,
p.m. is deducted from his salary for the said facility .

(x) The employer has provided him residential accommodation ( in Ahmegz.lga;d )
whose fair rental value is Rs . 15,000 p.m. Furniture postmg Rs . 4,00,000 1s
also provided by employer . The employee has contributed Rs . 16,550' i
towards this perquisite . The taxable value of this partly rent - free furnis
house is Rs . 80,000 .

(xi)Company's contribution to recognized P.F.Rs . 45,200 and employee
contributed Rs . 38,000

(xil) Expenses paid by company on behalf of employee

- Club fees Rs . 10,000 p.a.
- LIC Premium Rs. 3,000 p.a. .

OR

Mr. Vishwam joined a company on 1-4 2021 as an accountant in the salary scale [18]
of Rs . 18,000 - 1,000- 30,000 . Annual increment becomes due on Ist April . He
is a specified employee . He provides the following details for the year ending
31st March , 2024 :
1)D.A. @ 40 % of basic salary .
2 ) Contribution to recognized provident fund by both @ 12 % of salary
3) City Compensatory Allowance @ Rs . 2,000 p.m.
4)lmerwt@l2%p.a.ratecreditedloRPFA!cRs.2,400
5 ) House Rent Allowance Rs . 1,000 p.m.
6 ) Entertainment Allowance Rs . 1,000 p.m. .
7) Tour and Travelling Allowance Rs . 24,000 ( of which Rs . 8,000 are saved )
S)Theoompanyhaspmvidedl.hcwpmlyforpdmusemdpuﬂyfor

office use . All its expenses are met by the employee .
9)Fmeedueaﬁonisprovidedtotwoehildmhaschoolnmbyﬂ:eoompmy

Avmgemonﬂﬂywstofwchedmuioninasimiluschoolisks.1,000per .

child .
lO)ThewmpmypaysRs.&mﬂfmw-mﬁcﬂniuﬁrhhpamdm.
11 )Leaveamhmemammtmeiwdineuhm.l&,ooo
12)mend\isptwidedm200workingduyt(owperhmchh100)
l3)1heoomypcysks.600p.m.fomlqhomhcility.
14)thﬁ'psidmfuliomlm”efﬁs.2.mwmmtofh.36,000.
wmmmgmmwmzs :
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Particulars House-1 | House-2 |  Hoyge.3 !
Usage Let-Out | Let-Out |  Self- |
e |
Municipal Value 60,000 | 30,000 | 5,00,000 |
Fair Rent 96,000 | 44,400 -
Standard Rent 84,000 42,000 it
Rent Receivable 1,14,000 48,000 s
Vacancy Period 3 Months | % month i
Local Taxes 5% 4% 10%
(\ Interest on Loan for Construction ? - 43,790
On 31-12-2018, a loan of Rs. 2, 40,000 was taken at the rate of 12% for the
construction of House 1. The construction was finished on 1-4-2020. Entire loan
was repaid on 30-9-2023.
OR
Q-4 The following are the details of building owned by Shri. Jayesh. (17
Hovse Neme A B C | )
& Self- | UsedforOwn s
US ﬁc W w'm e e g *_;“"3:3 3
Municipal Valuation (Yearly) 8,000
Municipal Tax 0% | ¢

Dae  of Completion  of
Construction :
(3 Loan taken for Const
(12%P.A.) 3

Repair Expense
; —
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Seat No: No. of Printed Pag

Sk L UNIVERSITY
SARDAR PATE
[—2 3/A'1J BCOM SEM: V EXAMINATION
E Thursday, 17"October 2024
o 10:00 AM to 01:00 PM
UB0O5SCCOMT72: FINANCIAL MANAGEMENT-I

Total Marks: 70
Note: All working notes are part of the answer.

Q:1[A] Give meaning of financial management anql explain financing [10]
decision, investment decision and dividend decision.
[B] Describe role of finance manager [08]
OR
Q:1[A] Define financial management and discuss its significance for a [10]

business firm. . ’
[B] Explain profit maximization as an objective of financial management.  [08]

€ Q:2[A] Evaluate equity shares as a source of finance of a company. [10]
[B] Write note on: Commercial Bank. [07]
OR
Q:2[A] What is debenture? Explain advantages and disadvantages of [10]
debenture.
[B] Explain: Internal Financing. [07]

Q:3 Define capital budgeting and discuss characteristics and significance [18]
of capital budgeting.
OR
Q:3 Shakti Ltd is considering two mutually exclusive projects. Both [18]
requires initial investment of Rs 4,00,000 each and have a life of 5
years. The cost of capital of the company is 10% and tax rate is 50%.
The salvage value at the end of project is zero for project M and N.

. The depreciation is charged on straight line method. The estimated
cash inflows before depreciation and tax of the two projects are
as follows:

Year Project M Project N

1 320000 330000

2 290000 230000

3 240000 230000

4 240000 180000

5 120000 130000

Present Value of Rs 1 at 10% discount rate is as under-

Year 1 2 3 2 5
Present Value 0.909 | 0.826 | 0.751 0683 | 0.621

@ R % (P-7-0)
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Evaluate both the project on the pasis of following methods:
1) Pay Back Period Method ot
2) Average Rate of Return Me
3) Net Present Value Method
4) Profitability Index Method

3

Y 1
o
- o

al and net working capital and nn

: ; rking capit
Q:4 Explain concept of gross working pital requirement.

discuss variables influencing working ¢a

OR 99
Q:4 Calculate working capital roqu"'"“'"t from the  following (i
information: - o
Production for the year giogg units &
Selling pri i i . : - i
Raw %;reu:;'per = 50 % of selling price
Direct wages 10 % of selling Qr!ca
Overheads 20 % of selling price
Raw material in stores 2 months
Production process 1 month
50% Completion Stage)
Finished goods in store 3 months o
Credit allowed by creditors 2 months IS
Credit given to debtors 3 months

There is a regular production and sales during the year. Wages and
overheads occur similarly. Direct wages are paid in the next month. -
Raw materials are issued in the beginning of production cycle. =~ =~
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Seat N,

[29/a-¢1
E‘\'Q B.Com.(Sem.V) Examination - 2024
D'RICZ Fﬁd!y.lﬂ"
Time: 10.00 A M. 70 01 00 ..

AT AR, No. Oanm P.F: 0 +
SARDAR PATEL UNIVERSITY

UBOSCCOM73 - Business Mathematics and Statistics-y
October,2024

Total Marks: 70
Note:  F, igure to the right indicate full marks of the question.
Q:01(A) Give properties of Negative binomial distribution, 6
Q:01B) A die is thrown and obtaining 5 on the die is regarded success. find the probability of 6
getting the second success at the 6th trial. Also find mean and variance.
QOUC)  or g Geometric distribution Mean = % - than find P(x = 0) and its Variance. 6
OR
Q:01(A)  Define Hyper geometric distribution and give its properties.
f Q:01(B) Fora Negative Binomial Distribution mean is 6 and variance is 12 find its parameters. 6
Q:01(C) There are 6 red and 4 white balls in a bag. Three balls are taken one after the other
from it. Then find the probability of getting (1) 2 white and 1 red ball (2) All are red
balls (3) All balls are of same colour.
Q:02(A) Explain Dominance property in Game theory. 8
Q:02(B)  Solve the following game. 9
Player B
5 1 =7
PlayerA [8 7 8
i1 9 .8
OR
Q:02(A) Explmnptmangofnjobcﬂmugbtwomadmumaeqtmcmgpoblm. 8
Q:02(B) Thatareﬁve)obs,euchofWhichhutogolh!mghmemlchchuﬂBnﬁeadu 9
. AB times in hours are given as:
Job 1 3 3 4 5
Machine A | 5 1 9 3 10
MachineB | 2 6 7 8 -
wamﬁﬁuohhhwﬂﬁmwhr.&oﬂﬂm
for machine A and B,
Q:03(A) Explain m«mnmumhm 9
Q:03(B) Which of the Mm*qhmgm?
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Page 5

1] ASSETS
*) Non-current Assets-(1) Tangible Assets - Land -Building 400,000 | 3,00,000
= Plant 3,60,000 | 7,64,000
(2) Intangible Assets - Goodwill 2,00,000| 160,000
() Non ~current Investments - Trade Investments : 40,000 | 140,000
(¢) Current Assets
(1) Inventories - Stock Siain! aaia
(2) Trade Receivable - Debtors 280,000 320,000
- Bills Receivable © 60,000| 72,000
i b e 68,000 1,12,000
(4) Fictitious Assets - Preliminary Expenses | 40,000| 28,000
L | - _ 17m'm
Other information is as follows:- '

(1) Depreciation of Rs. 72,000 is charged on plant for the year 2022 No depreciation has been
provided on Land and Building
(2) A piece land had been sold for Rs.2,00,000 and the profit on sales has been credited to

Capital Reserve. There was no other capital profit expect this.

(3) A Machine has been sold for Rs. 48,000. mmm*mnm
(4)mm3mwm«mmummnmumm L
(ﬂumwan&wuw" n 20 : <y
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